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h' o (3 aiE)

i d 0 N i
| de
~da-0.600

Vo= 0.026

2.00

| 0.K.(Ld>L)

0.2052

M

0.25

M 0.K.(h"d>h’ )

d.
Ve-

0.410
2.006

[ d-
V-

0.221
1.878
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%5 P02-2& A gk kL& (OFHE)
— E# TR L AR QAX(1/nRS™)
N R=A/P
A K Ve=(dcx9.8)70.5
A=K hv=V¥/2g
QGRE)=| 0.166 |CMS

— . Fa#RE !
Eil 4% R.C.E &
QGA®) 0.166 CMS
S (4D 1.000 %
e[ 10
b (&) _0.600 M
n G AO[0.013
d(kig) 0.213 M
ViGrik) 1.845 W/S
dc(BERAK) 0.198 M subcritical
= PEH e A%
QGA®) 0.166 CHS
bCOEE) 0.202 M
dc(BRAR) 0.410 M
h (kAT 2 kAR % £)[[0.420 M 0.K. (h>dc)

. Bk ERE: ASE 1=(2.5+1.1(dc/h)+0.7(dc/h) "3 )*(h*dc) 0.5
AR - h'=dc/2
AKX T h/de<1.0
L (#ki&E) 1.7531 M

Lo Gtk k ) 2.00 M 0.K.(Ld>L)
h' Gex) 0.205 M
h' a(z3tas)[ 0.25 M 0.K.(h d>h')
o d. 0.410
Ve o 2.004
" Yoo
z ! \
I lde
ds 0.600 | | L
Vo= 0.026 b =
| | d
o di 0.213
L . Vi 1.845
h= 0.420
h'a= 0.250
La= 2.000
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#5 PO3& gk kT (GFHR)
R T L AR QeAR(1/mxRTS™)

ARK L R=A/P

AR 1 Ve=(dc*9.8)70.5

A% L hv=V'/2g

Q(iﬁ%)=| 0.714 |CMS

£ i 445 R.C.E &
QG#®) 0.714 CMS
S (k&) 1.000 %
a0 |
b (&%) 0.600 M
n (5}'&%&)@‘
di(kE) 0.600 M
ViGRik) 2.525 M/S
dc(eeRAZE) 0.525 M subcritical
= dEHErdE i
QG#®) 0.714 CMS
b (&) 0.564 M
dc(eERkE) 0.547 M
h (koA 16 2 A % £)[ 0600 Ju 0.K. (h>dc)

BN E Y

. kR E AR 1=(2.5+1.1(dc/h)+0.7(dc/h) "3)*(hxde) 0.5
N o h’=dc/2
N, o h/de<1.0
L(#kbEE) 2.3099 M
(""fai’?kﬁb%ﬁ*)mlﬂ 0.K.(Ld>L)
h’ Geig) 0.2734 M
h'e(ErsiE)l 0.3 M 0.K.(h d>h' )

B d. 0.547
. Ve 2315
!d() ' i ' ~

du 0800 . v
= 0.047 1 h ! B

0.600

di
1 2.525

1

X |
| . [ B
I d
Y
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%5 PO04E AR T HZF(OFHFE)
— B T AufEM L AR D Q=Ax(1/nxRS")
N . R=A/P
AR Ve=(dcx9.8)70.5
AR hv=VY/2g
QG#i®)=[ 0.593 :CMS

—.TH#ERHE .
EHELMERC.ES
QUGAE) 0.593 CMS
SGEAE) 1.000 %
ZEAIK] 10
b (&) 1.000 M
n CieAO[ 0,013 ]
d.(GkE) 0.339 M
VaCGA®%) 2.530 M/S
dc(BERAF) 0.330 M subcritical
= EHEE e di
QGAaE) 0.593 CMS
b (&) 0.468 M
dc(BERAKE) 0.547 M

h (kAT 2 2 R4% & £)[ 0.600 u 0.K. (h>dc)

ju i A = 2R, 0 L=(2.5+1.1(dc/h)+0.7(dc/h) "3)*(h*dc) "0.5
R ¢ h'=dc/2
2K 1 h/de<1.0
L (#RiEAE) 2.3115 1

LaCatit#pksefgO[ 2.50 |u 0.K. (Ld>L)
h' Geig) 0.2736 M
h'oCa3taegO] 0.3 M 0.K.(h"d>h')
] de 0.547
V. 2.316
" T
| d .
de 0.800 | .
Vo= 0.039 . T
o .
o d. 0.339
L Vi 2.530
h= 0.600
h'a= 0.300
Le= 2.500
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*5 PObE A BRI HIFOGFHEE)
— B A L AR Q=Ax(1/nxR'S)

X T R=A/P

AKX D Ve=(dcx9.8)70.5

AR hv=V2/2g

—.FarR .

= =g

QURE)=| 0.264

EiE L&A R.C.EWH
QGRE) 0.264 CMS

SGRE) 1.000

%

ZENRHE| 10

b CG&E) 0.800

M

n GieAO[0.013 ]

d1(RiR) 0.242

M

CMS

ViCGhak) 2.053 M/S

dc(BEFAR®R) 0.223

M

QUGAE) 0.264 CMS

b (&E) 0.550
dc(BERAE) 0.286

M
M

h (#ARAMEZ RBEFFESE)] 0.350

M

subcritical

X

0.K.(h>dc)

vg . Ep ok R A 1 L=(2.5+1.1(de/h)+0.7(de/h) "3 )%(hxdc) 0.5

ASE
n

h’ =dc/2
h /dc<1.0
L(#ktiE) 1.1983

M

LaGrit#pkfkAZ)l 1.50

d

M

M

M

ds 0.400

= 0.051

h’ Geig) 0.1432
h' a(GEEaiE)| 0.2
d.-:
Ve
: h
o
L -
h= 0.350
h’a= 0.200
La= 1.500

0.286
1.676

0.K.(Ld>L)

0.K.(h" d>h")

0.242
1 2.053

<ol
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%5 P06 H kA TR (5FRE)
— RHE oM L 2K 0=Ax(1/0xRYS")
A 1 R=A/P
AK 1 Ve=(dex9.8)70.5
AR L he=V'/2g

—.F#HEHE .

= fEHEE

QCRE)=

0.118

CMS

EHE LA R.C.E®

QGARE)
S GRAE)
B AR
b U&E)
n (F&E)
d.l(ﬂiﬁﬁ)
ViGRER)
d c (BE R A&F)

QGAE)
b (&EE)
d c(BE R AKF)

h (BRARMEZRERSZ)

0.118
1.000

CMS
%

10

.600

013

0

0

0.178
1.677
0.158
118
.264
273

OO O O

M subcritical
g
CMS

M
M

.300

M 0.K.(h>dc)

vy . E#oKk R A K D L=(2.5+1.1(dc/h)+0.7(dc/h) "3 )x(h*de) 0.5
AK T h'=dc/2

AR, D h/de<l.0

L(#kbkA) 1.1537T M0

LoCGit#kiRAZ)

h

|

‘ldu
!
1.

de=0.400

o= 0.024

h’ GeiE)
"o Gt iR)

=l
-
1 1 1

1.50

M 0.K. (Ld>L)

0.1366

M

0.15

M 0.K.(h"d>h' )

d-
Ve

—_— O O
o = W
o Oy O
o o O

0.273
1.636

d:

N d

Vi

0.178
1.677
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PO3& gk kL&t (G55 E)
—. R T D 2K Q=AX(1/n*RY’S")
2R, ¢ R=A/P
2R 1 Ve=(dcx9.8)70.5
AR hv=V2/2g
QUAE)=| 0.520 JCMS

= . TF#EHE
R LFE RC.FH
QCGAE) 0.520 CMS
SGEE) 1.000 %
Al 10
b (ERE) 0.600 M
n (&)1 0.013
d (kE) 0.424 M
Vi(iARsk) 2.436 M/S
dc(BERAKRER) 0.425 M supercritical
Z. &S b
QUGARE) 0.520 CMS
b (EXE) 0.830 M
dc(BERAKFR) 0.342 M
h (BkATHEZ RERESZ)] 0.350 M 0.K. (h>dc)

W.BKEEE: AR D L=(2.5+1.1(dc/h)+0.7(de/h) " 3)%(hxde) 0.5
2R - h'=dc/2
2R, ¢ h/de<l.0
L (k& Z) 1.4635 M
LaGRit#pkeiA)] 1.50 M 0.K. (Ld>L)
h' Geig) 0.1711 M

h'aGR3HF)] 0.2 WM 0.K.(h"d>h')
P de- 0.342
) 7 Ve= 1.831
do R
d-.
do- 0.500 o
Vo= 0.029 h N
d:
h' d:=0.424
| L | Vi=2.436
h= 0.350
h’«= 0.200
La= 1.500
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— . RE s T 2K

= F#RE
= . EHlag
h (BkAKAT

P04 E g kT ZF(OFHEE)

: Q=A%(1/n¥R**S"*)

- R=A/P

: Ve=(dcx9.8)70.5

. hv=V*/2g
QCRE)=

0.400

CMS

il 44 R.C. i
QGAE) 0.400 CHS
SCGA) 1.000 %

paAm] 10 |

b (EE)

n (&E)

d (ki)
ViGR#E)

d c(BE SR KR)

QGrE)

b (EE)

d c (B2 AK)
B REMESE)

0.600

M

0.013

0.353
2.313
0.357

0.400
0.640
0.342

M/S

M supercritical
A%

CMS

il

M

0.350

M 0.K.(h>de)

W.BKEEE: AKX L L=(2.5+1.1(de/h)+0.7(de/h) "3)%(hxde) 0.5
A=K . h’=dc/2

23X 1 h/de<l.0
L(3keEAE) 1.4607 M
LoGritdpkif )] 1.50 M 0.K.(Ld>L)
h' (GGeig) 0.1708 M
h’ a(GGREraeiE)l 0.2 M 0.K.(hhd>h')
P de- 0.342
= o Ve 1.830
do = \\
d.
do- 0.500 T 9
Vo= 0.029 h =
d
b I di-0.353
L | Vi=2.313
h= 0.350
h'a= 0.200
La= 1.500

Al.2-6



SH) L0070 BERWH ot 08
0009°0 BHEYW 2L
DY 0060 e ok e'g
B8 079°0 HE ok qQ-G
DAY 0060 e ETHL ok Uy
bR 000°0 HeNETHT O [EIS
DY 0520 FeeYEF4hont U'g
19 WY ETEF O NI
Ty 2% WIHS WY H

M./ & K:DJW@V_N TH

EZEWOEYH#E 49

ETBWOEY HH 19

¥ EWOELY 6d

EZEYOELE [

EvEYank4E ¢

EZEW OEHD 14

ETEW OEWE A E ea

ETEY oW E AT (¢

Y BpEr ERY

£ REY TN

Al.2-7



—. RETHEH I 2K

2K

AX :Ve=(dex9.8)70.5

ZAEN

—.TF#EwE

= . EHEE

h (kKA

. HKibEE:

PO5& Bk KT RIT(OFH|E)

: Q=A*[l/n*R3/ZSU2]

- R=A/P

. hv=V*/2g
QGAE)=

0.250

CMS

kB L R.C.E&
QGARE) 0.250 CMS
S A 1.000

Rl AR

b (&)

n (#&E)
d:(KiK)
ViCGR®)

d c(EE R AKF)

QCHEE)

b (EE)
dc(BERAKZEK)
Bz REAESE)

- h’'=dc/2

2R, - h/de<1.0
L(#KkE&E) 1.4607 M

10

0.600

0.013

0.266
2.063
0.261

.250
.400
.342

OO O O

.350

%

M

M
M/S
M

CMS
M
M
M

subcritical

g

0.K. (h>de)

AR D L=(2.5+1.1(de/h)+0.7(dc/h) "3)x(hxdc) 0.5

LoGrit#ksegg] 1.50 M 0.K.(Ld>L)
h' Geig) 0.1708 M
h' aGRstseg)] 0.2 M 0.K.(hd>h’)
v de- 0.342
= 7 Ve- 1.830
do = \\
d.
d o= 0.500 .
o= 0.029 h =
d.
iy d = 0.266
L V- 2.063
h= 0.350
h’a= 0.200
Le= 1.500
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PO6# Ak Kk L& (OF3H%E)
— Rl i 0 AKX Q=AX(1/nxRY’S")
2K, R=A/P
A K 1 Ve=(dcx9.8)70.5
PASE W hv=V2/2g
QCAZE)=} 0.288 ICMS

—. TR :
Rl LA R.C.EE
QUAE) 0.288 CMS
SG&AE) 1.000 %

RN 10
b(&ERL) 0.600 M
n(#&A&): 0.013
d.(ki®E) 0.289 M
ViGR®k) 2.137 M/S

dc(EERAK) 0.286 M subcritical

= . EHEg A

QGARE) 0.288 CMS
b(EE) 0.460 M

dc(BRAR) 0.342 M

h (sokir 2 kAR % £)[ 0,350 Ju 0.K. (h>de)

WK AR 1 L=(2.5+1.1(de/h)+0.7(de/h) "3 )%(hxdc) 0.5
N . h'=de/2
AR 1 h/de<l.0
L(#KbEE) 1.4627 M

LaoGrit#kiefZ)] 1.50 M 0.K.(Ld>L)
h’ Geig) 0.171 M
h' o GritsesO] 0.2 | 0.K.(h d>h')
. de- 0.342
= v Ve- 1:831
do = ‘\\\
d.
d o= 0.500 o
Vo= 0.029 h N
d.
b | d - 0.289
| L | Vi=2.137
h= 0.350
h’a= 0.200
La= 1.500
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